
118

Zastąpione przez serię CSMF (sprawdź specyfi kację techniczną). 
Jeśli wymagany jest port boczny zobacz serię CSMF - wersja S 
(sprawdź specyfi kację techniczną).

for linking to open system is needed, see CSMF series - “S version” 

CF
cylinder body to ensure a higher safety level compared with 

linkable to open system.

/ Linkable

Important use instructions and maximum number
of cycles per minute on pages 88-95.
For accessories, see page 135.

na stronie 135. 

open system.
ATTENTION: make sure to fully discharge the
gas spring before connecting it to open system
(see the instructions supplied together with the
charging and discharging set COMPL).

TECHNICAL NOTES

No. 8 pcs. CF50-80 1500daN

series CF with built-on

initial force = 1500 daN

ATTENTION: specify the 
required initial force.

HOW TO ORDER

Fixing possibilities
(see also “Accessories for nitrogen
gas springs for dies” on page 135)

W
YC
OF
AN

OF
AN

OF
AN

YNYANANNNANANNN
YNYANANFAFOFO
YYYYYYYYYYYYYYYYYN

FAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAFAOFOFOFOFOFOFOF
AAANAN

OOOOO
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAANANANANANANANANAAAAAAAAANANANANANANANANANANANAN

OFOFOFOFOFOFOFFFFFFFOFOFOFOFOFOFOFOFOFFFFFOOOOOOOOOOOOOOOO
YYYYYYY

No. 8 pcs. CFNo. 8 pcNo 8 p CF

series CFeries CF

HOW TO ORD

DI
SC
OCO
NT
IN
UUE
D

INININ
UNININ

NT
IN

NT
INTINN
UUUUUUNUU

NNTNTNTNNNNTNTNT
UNNUNUN

NT
I

NTONCOO
UE

OOOCOCCCCCCCCOCOCOCOCOCOCOCOCOCOCCCCCCCCCCOCOCOCOCOCOCOCOCOCOCOCOCOCOCOCCCCCCOCOCOCOCOCOCOCOCOCOCOCOCOCOCOCOCOCCCCCCCCCCCCCCCCCCCCCCCC

EEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDDDDDEEEEEEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDDDDDEDDD

SCna stronina stronS

00 daN00 daN

STANDARD SERIES - NITROGEN GAS SPRINGS FOR DIES

STANDARDOWE SPRĘŻYNY GAZOWE DO TŁOCZNIKÓW

Zastrzegamy sobie prawo do zmian w katalogu bez uprzedzenia, zawsze sprawdzaj jego aktualność na stronie www.impex-ready.pl
118 Impex-Ready 2020

Sp
rę

ży
ny

 g
az

ow
e 

do
 tł

oc
zn

ik
ów



119

MODEL MAX STROKE mm mm
N

mm mm
d

mm mm bar daN daN
E

FLANGES

10 • 10 95 105

50 30 25 212 1500 2400

25 • 25 110 135

38 • 38 123 161

50 • 50 135 185

63 • 63 148 211

80 • 80 165 245

100 • 100 195 295

125 • 125 220 345

160 • 160 255 415

200 • 200 295 495

10 • 10 95 105

63 36 25 196 2000 3200

25 • 25 110 135

38 • 38 123 161

50 • 50 135 185

63 • 63 148 211

80 • 80 165 245

100 • 100 185 285

125 • 125 220 345

160 • 160 255 415

200 • 200 295 495

10 • 10 105 115

75 45 25 189 3000 4800

25 • 25 120 145

38 • 38 133 171

50 • 50 145 195

63 • 63 158 221

80 • 80 175 255

100 • 100 200 300

125 • 125 225 350

160 • 160 265 425

200 • 200 310 510

25 • 25 130 155

95 58 25 189 5000 8000

38 • 38 143 181

50 • 50 155 205

63 • 63 168 231

80 • 80 190 270

100 • 100 210 310

125 • 125 245 370

160 • 160 280 440

200 • 200 330 530

25 • 25 140 165

120 75 35 204 9000 14400

38 • 38 153 191

50 • 50 165 215

63 • 63 178 241

80 • 80 195 275

100 • 100 215 315

125 • 125 250 375

160 • 160 290 450

200 • 200 340 540

75

4 x Otwory / Holes
M10 do mocowania
for M10 fixing screws

100

100

125

6 x Otwory / Holes
M10 do mocowania
for M10 fixing screws

100

125

6 x Otwory / Holes
M10 do mocowania
for M10 fixing screws

120

145

8 x Otwory / Holes
M10 do mocowania
for M10 fixing screws

145

170

8 x Otwory / Holes
M10 do mocowania
for M10 fixing screws

CF

• Available on request

Serie standardowe / Standard series 

W
YC
OF

W
YC
OFCO
FA
NYANNNAN
YYYNYYNYNYNYNYNYYYYYYYYYAAAFAAFAFAFAFAOFFOFOFOFOF

ANAANANANANAAAAANANANANNNNNNNFFFFFFFOFOFFFFOFOFOFOFOFCO
F

CO
FOFOFOFCOCOCOCOCOCOCOCOCOCOCCCCYCYCYCYCYCYCYCYC

196196 2

7575 45
21

255

30

225 350

265

310 10

155

143

50 55

63

80

100

25

DDDDI
SC

DI
S

DI
SIS
CO
NT
IN
UE
D

NU
ONNNONNONON
TTTNTTNTNTNTNTNNNN
NU

CCCSCCSCSCIS
CSCISISISISII
OOCOOCOCOCOCOSCCSCSCSCSC
ONOONOOOOONONOOOOONONNONNNNNN

SSISSISSSDI
S

DI
SISISISDI
S

DI
S

DI
S

DI
S

DIDIDIDIDIDDDDDDDDDDDDDDDDDD

UUUNUNUUNNUNUNUNUNNNUNUINNNNTININNNTINTINNNTITITTTT189189 3000300 48004800

9595 5858 2525

ED

70

440

0 5

165

91

EDEDEDEDEDDDDDDDDDDDDDEDEDEDEDEDEDEDEDEDEDDDDDEDEDEDEDDDDDDDEDDDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDEDDDDDDDDDDDDDEDEDEDEDDDDDDDED

10010000 DDDDEDEDEDEDEDEDEDDDDDDDEDEDDDDDDDDDDEDEDEDEDEDEDDDDDDDDDDDDEDEDEDDDEDEDDDDDDDDDDDDD

1112

6 x 6 x Otwory / HoleOtwory / Hol
M10 do mocowaniM10 do mocowania
for M10 fixinfor M10 fixingg sc scggEy DEDDD

We reverse the right to make modification in our catalogue, without prior notice, always check its validity on of website www.impex-ready.pl
119Impex-Ready 2020

Sp
rę

ży
ny

 g
az

ow
e 

do
 tł

oc
zn

ik
ów


